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1 10:15 BAR(E>Y) 0 vs 6 TS5V IL(HE)
2 10:22 FA4Y(R) 0 vs 2 a7 (IR)
3 10:29 HEXR(E>Y) 3 vs 3 KAV (R)
4 10:36 TS5T)L(#) 4 vs 0 AL 7 (BR)
5 10:43 HER(E>Y) 2 vs 3 a> 7 (k)
6 10:50 TS5V (E) 3 vs 1 KA (&)
K =
HERRE | 11:00 TSI (E) 3 vs 1 BARE>Y)
R | 11:.07 As 7 (KR) 5 vs 2 FAY(R)
SRLRTEH  11:14 FAY(R) 3 vs 2 BERE>VY)
BB | 11:21 TS5V (E) 3 vs 0 a> 7 (k)
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TYIAFvL2THyT FYX(EL-FER) DES ERE

TS| Av7F AAR{EY |
Gy | RS Hy | FIY@® B5R B8R | KR BENIE b
TS5
(#) 4-0 6-0 3-1 9 13 1 12 1
A7
() 0-4 3-2 2-0 6 5 6 -1 2
=F. Y(=2r)) 0-6 2-3 3-3 1 5 12 -7 4
KA (8) 1-3 0-2 3-3 1 4 8 -4 3




